Sci Not Math 1 Answers:

	Question
	Answer
	
	Question
	Answer

	5000
	5 x 103
	
	5000.
	5.000 

x 103

	2534
	2.534 x 103
	
	27000
	2.7 x 104

	0.099
	9.9 x 10-2
	
	0.090
	9.0 x 10 –2

	0.00031
	3.1 x 10 – 4
	
	400.001
	4.00001 

x 10 2


	Question
	Answer
	
	Question
	Answer

	2.34 

x 105
	234000
	
	1.23 x 10-4
	0.000123

	4.0 x 104
	40(bar)000
	
	4.0 x 

10-2
	0.040

	9.810 

x 102
	981.0
	
	9.810 x 10-3
	0.009810

	8.201 

x 106
	8201000
	
	1.301 x 10-4
	0.0001301


1.  
1.259 rounds to 1.26

2.
 33.81 rounds to 34

3. 
1114.12 rounds to 1114.1

4.
 5 with 2 sig figs becomes 5.0

5. 
4135.35 rounds to 4000  (because the 0 on the 3000 were place holders, NOT because there is 1 s.f. in 3000)

6. 
2109 rounds to 2000 because the 0 in the 3000 are place holders and are not significant.  

